B %28 (36) THd £ SRR S £
WE MR B g PSR Ry A2 Ea i F Gl R D

3o E p R z»f%?**tﬁfﬁ‘if%i B o

- Rz ERER (30) Ea B SR R AR EBNRE
Glicd FRING RN NFPREERR I (B

‘%(ﬁ)%ﬁhﬁ?~i?§ﬁ§ﬁ 2 E LA 2 A
BEFH- AR ETRLP BB TARE (TFETRL )
TENEGEHSBAG L - (B1 ¥ ,iﬁfi )



RATIFEFE™ BRPREY -

Fiid - 2 it 1

BEXRFECHRA

PR L {7 % - BRI - Y
FREREFR ?*“*izsi wm,n,*rf}mrwgzﬁi e
ARG RS S £ BIEER T F GRER) FEL G RSN K E RS R Y 3 AR W fr e
={& MHz oA 345 Mz P IRAF2Z % #fic( ) xi7d | = (& MHz s stap g * § 45 Mz ¥ pRAx2 % 2 () xi7 | & ¥#3#E
45U (/5 ) B ExE o g Mo | B4 AU §(2/5 ) it ExE ol i | 58 5
T8 A Hox R 8 i # i p
LA R T2 AR N é&gw T 4 LA IR T2 AP M Mw ol A2
¥ir% % MHz ks |5 MHz @ e |Eau | & o |Eaw (B MHz A |F MHz T FE (¥ | & o= Bl i A
EHE 5| r’@: 5 BEG EHE 5 | r’@: FE | W#H 2 Ei%
(=/Miz) | (&) |%ife | #& (%/MHz) | (£) |Ek |§F RS
BoAf LS 3 #d 72
& i B IR
* % » % FEAN T
(=~ (=~ [P -/
) ) SO
e 355,000 | 83,000 | 40 | 1 |7 [F® 355,000 | 83,000 | 40 | 1 |L2T | FAEE
e | " ’ oy e | " ’ sy | i
¥z B ¥ = P F
s 2. %3 kT 2. "B
g | 355,000 | 83,000 | 40 | 0.85 | L.t o | 7,355,000 | 83,000 | 40 | 0.5 |t
f wirde | i A
w9 | 7,355,000 | 2,500 10 | 0.2 |3 & & | %% | 7355000 | 2500 10 023 &=
£ TR s O B
1900M B 2 % | 1900M 2%
Hz L 3 R L S
¥ K E B RESR # 5o
woe | 4T8L000 | 15000 | 15 | 0.4 |y, | | 478,000 | 15000 | 15 | 0.4 | g, .
(LT) (LT)
7 7
iy el
iz | 1,839,000 | 29,000 | 10 | 0.3 iz | 1,839,000 | 29,000 | 10 | 0.3
¢ ¢
A EaR 3
BT | 1,839,000 | 2,500 10 | 0.3 BT | 1,839,000 | 2,500 10 0.3
900MH 900MH
7 47 7 7
% %
R ®T
# 3,678,000 | 4,500 10 | 0.3 # 3,678,000 | 4,500 10 0.3
(CT2 (CT2
) )
T T
A A
2,427,000 | 2,000,000 | 2 1 2,427,000 | 2,000,000 | 2 | 1




fo

IR T

R R D R

H
=

R#TARME R § 35 k2 RS R > f B AR
Thef | Fro S TEH B3 ThERE | RS T4 [
(F24) | ¥irkk (#241) | HE
% ¥
| #aB |6,00 = 1 LRETRE | - | e |6 000~ 1 LK QA%
K3 i # i
T (Television T (Television
= _ Translator)/ 1 _ Translator)/
= FREY 2,000 ~ 1 W4 w |- By 2,000 ~ 1 W -
BR¥Td (Television BR#T L (Television
Booster)/ #* Booster)/ #
(3242 Mo (Gap (¢ 2tz M. sk (Gap
.1 Filler)—‘ﬁ > * . Filler)—ﬁ‘ > H
Feo) ¥ e BaE & it Fete) ¥ Of B
2| -mpe | 1800 2/10 | AR | M = | -amap | 1800 %/10 | x> H | TR
2. B3t EimE LR E
At Frooxia | HTE ?pié%p\ A v Rihit | Froxie | R BB AT
A s} nd EY > = nd R X R
AR R > 4265 f T L
TEAEG | 028 | HEEFRRREZ TADEG % TR
ANE S-S VN JANE SN VI
kS #Tk .F]z, /;_mrz« # 0.2 » RIS
o2l ro2ly o A
| -ap | 10005/10 | a1 | DR RE - dagpig | 1000 /10 | PRk R
* v wE e s | v 9 F 5 A
RHTE | v zri-ea | | R#TE | Fivxe | B R [ZA2- i
- 2z &2 = ) - . 2oz k2
(%_ ;._’\\f‘ﬁ';:x _ﬁ’;—%fr‘t (u%..zl-) ;/\rg;:x a1 _ﬁ,;iggt
T AN T k- R A
Lingd B Tay R U S 3
£ Bz A - # BOfFZ A2 -
vu*r_&z,];u_ 'u'r_:k',];u_
I #GEE 12,000,000 | 222 | guf ., I #GOF 12,000,000 | ¢ # | g [
R | AxTAn b s | ERALS HRART | Axedn |2 o |3 DRAMGS
2Tk L 2Rkt fpiE
4 gk 025 |Ewe | |4 Eike |4 | Ewm L
» (B S Jo » 1BE) A Fo
Eps ,ﬁ;‘ofm ; x v g; 1% 4
w4 | A FGF AR 2 oA |4 FEGEDFH
3 EE A R
=1 54000 = /10 £ 5 | 54000 = /10
g 4 r x2300 0.9 g 4 r x2300
g 4 v =1200 ) g 4 v =1200
F~- PR =
5. #c i A 45T o |smeAHT
+ % 1800 ~ WA E % 1800 =
/10 § + ¢ £ 0% /10 § + ¢
x2300 & % © x x2300 F 4 v x
B R AR 0.9 B R AR
———— 1.536Mz/ 3 [ 1. 536MHz/
A | BB ¥, 3, 000, 000 1 R | B R 4 3,000, 000 1 ORI R
pE: X T 0. 2MHz =300 7 ST B 0.2z <300
g e g~ o
BexT 4 AR R T x4 AR R
y % 1 200kHz . % 1 200kHz
Birk 0 R BhE e # 4
%t 1. 536MHz % 1 1. 536MHz

6. % B ik
I

(T
Fho 45—

-
=R

<y
e

e o o

SR T

= i

o™ .

£k oy S W E D N
. W

e
N

E2E]
e N

/-\o
#
—

B T - R L - Y R N

5

Do
S o
]\xi)&:géﬁ

g % g b mb B e m
ol 1““‘47

o

7?‘;&@@(*
Uow e

Eh M N SN e =k g e e
de Ry

wA

i HF
2N

N

‘_‘ﬁgqqg RTINS VRS . i OBV

&




